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Division by grouping
Present pupils with a problem. For example:

Each table in the picnic area could seat 5 chidren. Fifteen children were
'going to the picnic. How many tables would they need?

Model how to calculate this on a 0-100 beadstring. Count up in multiples of 5
to 15, moving each group of 5 along as itis counted.

Make the link between the 3 groups of 5 beads and the 15 total beads. Refer to the link between this and
‘multiples (explored for multiplication in 21523 step 1).

Where do the numbers
come from?

Repeat this model with divisions that require
groups of 2,5 or 10.

The total of 15 beads represents the
number of children going to the picnic.
There are 5 beads in each group because
there are 5 chairs at each table.
There are 3 groups. This tells us they
would need 3 tables.

Use handout_21.S26_step2_speaking_frame to model how the language fits with the representation.

Record the division calculations alongside the models to link the concrete model with the abstract:

15 = 5 3
total numberof ~ dividedby  seatsoneach  equals  number tables
children table needed
(quotient)

Pupils wil use beadstrings (or an altemative suitable manipulative) to solve divisions by grouping. For
example using handout_21.S26_step2_division_by_grouping.
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Activities for exploring ideas at greater depth

Using 24 beads, how many different ways can they be grouped without any left over? Record each
successful grouping as a division calculation
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Write a division calculation to
match each beadstring:

00000000 00—

0000000000 ———




